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QUESTION 1

Which features characterize CA Process Automation package objects? (Choose three)

A. They are exported as Java Archive (JAR) files.

B. They can contain multiple versions of the same object.

C. They enable you to define a collection of shortcuts to objects.

D. They can be distributed with unrelated objects between several folders.

E. They are primarily used to define and group variables that are used as parameters by multiple processes.

Correct Answer: BCD

QUESTION 2

When you configure touch points, which factor should you consider?

A. New touch points require the installation of a new agent.

B. Agents and touchpoints have a strict one-to-one mapping.

C. The environment in which the touchpoint is being created needs to be locked.
D. Running an operation over multiple touchpoints requires a loop in the operation.

Correct Answer: C

QUESTION 3

You have added an operator named Create_Tickets to a process. You need to access an operator dataset named
Result from this operator. Which statements will fetch the value of Result? (Choose two)

A. Process.OpName.Result

B. Process[OpName].Result
C. Process.OpName.[Result]
D. [Process.OpName].Result

Correct Answer: AB

QUESTION 4

Which statement about manipulating XML data in CA Process Automation is TRUE?

Latest CAT-500 Dumps | CAT-500 VCE Dumps | CAT-500 Study Guide 2/5


https://www.pass4itsure.com/cat-500.html
https://www.pass4itsure.com/cat-500.html
https://www.pass4itsure.com/cat-500.html

VCE & PDF https://www.pass4itsure.com/cat-500.html
a 2024 Latest passditsure CAT-500 PDF and VCE dumps Download
== / PassditSure.com

A. CA Process Automation defines its own XPath query syntax.
B. The applyXPath operator can be used to extract data from an XML document.
C. CA Process Automation contains no system functions related to XML or XPath.

D. In a CA Process Automation operator, if data returned from a Simple Object Access Protocol (SOAP) call is in XML
format, you cannot retrieve the value of a specific XML element in this data.

Correct Answer: B

QUESTION 5

When you export an automation object, which type of file is produced?
A. jar

B. xml

C. .pam

D. .wsdl

Correct Answer: B

QUESTION 6

During which process development phase do you typically create a runbook?
A. Requirements Analysis

B. Testing and Deployment

C. Design and Implementation

D. Production and Maintenance

Correct Answer: A

QUESTION 7

You need to implement failover-safe CA Process Automation touch points. Which CA Process Automation agent
deployment guideline should you follow?

A. Use a single agent deployed on a powerful hardware platform for each touch point.
B. Use a single agent deployed on a powerful hardware platform and map that agent to multiple touchpoints.

C. Use multiple agents deployed on different servers, map these agents to a single touch point, and configure different
priorities for the agents.
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D. Use multiple agents deployed on the same server, map these agents to a single touchpoint, and configure different
priorities for these agents.

Correct Answer: C

QUESTION 8

You want to publish an event to a CA Process Automation orchestrator. After publication, the event will need to be
processed when users subscribe to it. Which operators will you need to use? (Choose two)

A. Send Event

B. Start Process

C. Monitor Event

D. Assign User Task

Correct Answer: AC

QUESTION 9

Why might you add a cluster node to a domain orchestrator? (Choose two)

A. To achieve high availability

B. To enable granular security

C. To set up independent databases

D. To extend the processing power of the domain orchestrator and improve performance

Correct Answer: AD

QUESTION 10

You recently assigned Indira Chopra to the Environment Configuration Administrator role. With the associated rights,
Indira will be able to override various inherited settings. However, Indira will be unable to overwrite settings at the:

A. Agent level.

B. Domain level.

C. Orchestrator level.
D. Environment level.

Correct Answer: B
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